T; Value T, Value

Ty | —0.42 +0.13 + 0.03 To9 0.21 + 0.12 4+ 0.01
T3 | —0.38 & 0.15 &+ 0.01 T3 0.03 + 0.12 4+ 0.01
T, | —0.02 4+ 0.14 £ 0.01 Tos | —0.10 & 0.10 + 0.01
T 0.29 + 0.14 £ 0.02 Tos 0.03 £ 0.10 & 0.01
Ts | —0.05 + 0.14 £+ 0.04 Tog 0.08 £ 0.11 £ 0.01
T7 | —0.06 = 0.15 + 0.03 Tor 0.14 £ 0.11 £+ 0.01
T 0.04 + 0.16 + 0.01 Tos | —0.04 & 0.11 4+ 0.01
Ty 0.05 £+ 0.16 £ 0.02 Tag 0.06 £+ 0.15 &+ 0.04
T1o 0.24 £+ 0.17 £+ 0.02 Ty | —0.21 4 0.15 £ 0.04
T 0.06 + 0.13 £+ 0.01 T3 | —0.07 &+ 0.16 &+ 0.01
Tiz | —0.01 £ 0.13 + 0.02 Tss | —0.16 & 0.17 £ 0.02
Ti3 | —0.08 4+ 0.12 + 0.01 T43 | —0.04 4+ 0.17 + 0.02
T4 0.09 £ 0.13 £+ 0.01 Tsy 0.15 £ 0.11 £+ 0.01
Tis 0.11 £+ 0.13 £ 0.00 T35 | —0.13 4+ 0.11 £ 0.01
Tig | —0.12 4+ 0.13 4+ 0.01 T 0.05 + 0.11 + 0.01
Ti7 | —0.04 &+ 0.13 £ 0.01 Ts; 0.05 + 0.11 £ 0.01
Tis 0.03 £+ 0.14 £+ 0.01 Tag 0.06 £+ 0.11 £ 0.00
Tig 0.11 £ 0.11 £ 0.01 Ts9 | —0.08 & 0.11 + 0.00
Ty | —0.00 & 0.11 £ 0.01 Ta0 0.15 + 0.11 £ 0.01
To: 0.03 + 0.12 + 0.01 T4 0.12 + 0.11 4+ 0.01



